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After a state transition to Cell_DCH state or after a timing re-initialised hard handover the UE must determine sets its CFN in relation to the SFN of the first radio link listed in the message. For FDD, the relation between the CFN and SFN is defined in 25.331 section 8.5.15 as:

CFN = ((SFN*38400 - DOFF) div 38400) mod 256

where DOFF is a parameter set by the UTRAN and can take the values from 0 to 306688 chips in steps of 512 chips.

However, this formula is not in line with the radio interface synchronisation as defined in 25.402. The diagram is an portion  of 25.402 figure 15 showing the relationship between CFN and SFN. The difference between 25.331 and 25.402 can be shown by way of the following examples:

1 - Considering the frames coloured yellow in the diagram:

DOFF = 2 x 38400 + 10240 = 87040 chips

SFN = 0

CFN from diagram = 254

CFN calculated from formula in 25.331 = 253

2 - Considering the frames coloured green in the diagram:

DOFF = 2 x 38400 + 10240 = 87040 chips

SFN = 3

CFN from diagram = 1

CFN calculated from formula in 25.331 = 0
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Conclusion

Clearly, the equation described in 35.331 is not in line with 25.402 and it is proposed that the formula is corrected to be:

CFN = (SFN - (DOFF div 38400)) mod 256

If agreed, CRs will be prepared for the RAN2#25
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